

Agma-16100
 as/extra/1004
 Mechanical Eng.

Q10) $y^{(n+1)} = (2x+1)y^{(n+1)} + 2(x+1)y^{(n)}$

$y = e^{x^2+x}$

Let $y = x^2+x$

$\frac{dy}{dx} = 2x+1$

$y = e^t$

$\frac{dy}{dt} = e^t$

$\frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx}$

$\frac{dy}{dx} = e^t \times (2x+1)$

value $u = x^2+x$

$\frac{dy}{dx} = e^{x^2+x} (2x+1) = y'$

$y' = e^{x^2+x} (2x+1)$

$y'' = 2e^{x^2+x} (2x+1) + e^{x^2+x} (2x+1) (2x+1)$

$y'' = 2e^{x^2+x} (2x+1) + 2e^{x^2+x} (2x+1) (2x+1)$

but $y = e^{x^2+x}$

$y' = e^{x^2+x} (2x+1)$

$y'' = 2(y) + y'(2x+1)$

Apply Leibnitz theorem

$y^{(n+1)} = 2(x+1)y^{(n)} + y^{(n)}(2x+1)$

2) Using the Leibnitz theorem given that
 $y = x^3 e^{tx}$ determine $y^{(5)}$

Soln

Recall Leibnitz theorem states that

$y^{(5)} = u^5 v + 5u^4 v' + 10u^3 v'' + 10u^2 v''' + 5u v^{(4)} + v^{(5)}$

$$\begin{aligned}
 y^{(4)} &= 24x \\
 y^{(3)} &= 12x^2 \\
 y^{(2)} &= 4x^3 \\
 y^{(1)} &= 12x^2 \\
 y &= 4x^3
 \end{aligned}$$

$$\begin{aligned}
 v &= x^3 \\
 v' &= 3x^2 \\
 v'' &= 6x \\
 v''' &= 6
 \end{aligned}$$

$$\begin{aligned}
 y &= 10x^3 e^{4x} + 5(2x^2 e^{4x})(3x^2) + 10(6x e^{4x})(6x) + 10(16e^{4x})x^3 \\
 &\quad + 5(16e^{4x}) + e^{4x} \\
 &= 10x^3 e^{4x} + 3840x^2 e^{4x} + 3840x e^{4x} + 960e^{4x} \\
 y &= e^{4x} (10x^3 + 3840x^2 + 3840x + 960)
 \end{aligned}$$

Q 4 $x^2 \frac{dy}{dx} + xy' - y = 0$ show that

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$$

Soln

The eqn can be written as $x^2 y'' + xy' - y = 0$

$$w_1 = x^2 y'', \quad w_2 = xy', \quad \text{and} \quad w_3 = -y$$

$$w_1 = x^2 y''$$

$$\text{let } u = y^2 \quad u' = 2y y'$$

$$v = x^2 \quad v' = 2x \quad v'' = 2, \quad v''' = 0$$

$$w_1 = \frac{y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2} y^n \times 2 + 0}{2}$$

$$w_2 = xy'$$

$$\text{let } u = y' \quad u' = y''$$

$$v = x \quad v' = 1 \quad v'' = 0$$

$$\begin{aligned}
 w_3 &= y^{(n+1)} \cdot x + n y^n \cdot 2 + 0 \\
 &= 2x y^{n+1} + 2n y^n
 \end{aligned}$$

$$w_3 = y^{(n)}$$

$$\begin{aligned}
 w &= w_1 + w_2 + w_3 \\
 &= \frac{x^2 y^{(n+2)} + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2} y^n \times 2 + xy' + y^{(n+1)} x + n y^n}{2} + y^n = 0
 \end{aligned}$$

$$\begin{aligned}
 &x^2 y^{(n+2)} + 2xy^{(n+1)}(2n+1) + n^2 y^n \left[\frac{n(n-1)}{2} + n+1 \right] = 0 \\
 &x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0
 \end{aligned}$$